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DIPLOMA IN MEAT TECHNOLOGY (DMT) 

Term-End Examination 

June, 2015 	00390 

BPVI-027 : UTILIZATION OF ANIMAL 
BY-PRODUCTS 

Time : 2 hours 	 Maximum Marks : 50 

Note : Attempt five questions. Question No. 1 is compulsory. 
All questions carry equal marks. 

1. 	Fill in the blanks (any ten) : 	 1x10=10 
(a) Skin of an unborn calf is called 	 

(b) Process of removal of hide from carcass is 
known as 	 

(c) 	 is used as an anticoagulant. 
(d) Casing prepared from large intestines of 

cattle is known as 	 

(e) Inferior quality gelatin is known as 

Digested material in dry rendering is called 

Lanolin is obtained from 	 

The skin of an animal with the fur or hair 
still on it is called 	 
BOD5  of waste water from slaughter house 
ranges from 	to 	g/ m3. 
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(j) Rennet is secreted from 

(k) The fat which is stripped off from the animal 
during slaughter, is known as 	 
fat. 

(1) COD stands for 	 

	

2. 	(a) Briefly describe the benefits derived from 	5 
animal by-product utilization. 

(b) What do you mean by slaughter house 	2 
by-products ? 

(c) Classify by-products according to the 	3 
edibility of the products. 

	

3. 	(a) Write a short note on defects of hides and 	4 
skins. 

(b) Mention the steps involved in the processing 	4 
of hides and skins into leather. 

(c) Why air-drying is preferred over 2 
ground - drying ? 

	

4. 	(a) Mention different components of clean and 	4 
unclean sections in a by-product processing 
plant. 

(b) What are the general considerations for 	4 
installation of a by-product processing 
plant ? 

(c) How a wet renderer in a by-product 	2 
processing plant works ? 
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5. 	(a) What are the pre-rendering operations 	2 
while preparing carcass meal ? 

(b) Give a flow - diagram for preparation of 	3 
meat-cum-bone meal by dry rendering 
process. 

(c) Compare dry-rendering with wet - rendering 	4 
process. 

(d) What is bone-ash ? 
	

1 

	

6. 	(a) Classify by-products available in poultry 	2 
dressing plant. 

(b) How feathers are processed for different 	5 
uses ? 

(c) Suggest how you can utilize dead poultry 3 
birds. 

	

7. 	Write short notes on (any five) of the following : 
(a) Meat plant effluents 
(b) Casing 
(c) Utilization of glands as by - product 
(d) Blood meal 
(e) Primary effluent treatment 
(f) Utilization of hoof and horn 

2x5=10 

8. 	(a) What are the components of a bio-gas 
producing plant ? 

(b) What points you should consider for 
construction of a digester ? 

(c) Briefly describe the methods of compost 
making. 
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